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ECE 3455
Quiz #6
April 27, 2000

1. This quiz is open book, open notes. ‘
2. Show all work necessary to complete the problem on these pages. If you go on

to another page, indicate clearly where your work can be found. A solution
without the work shown will receive no credit. ‘

3. .Show all units in expressions and figures.

4. Do not use red ink. :

5. You will have 20 minutes to work on this quiz.
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[image: image2.png]e LR eﬂer cireuit with the following characteristics: In the H output state, the otgtput
‘of'the inverter can be modeled by a Thevenin equivalent with Ry = 2.2 k{2 and V= 10 V..

- When the.input is HI, the input of the inverter can be modeléd by Ry'= 1§ kQ an&vm =06 V..

a) Usmg the given Thevenin equivalents, draw a circuit that models theinverter in the HI

<. output state, with ‘n’ gates attached to the output.
b) Find VQH for afanoutn=35.
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